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1325849 6866459 8846654 10.000,00 € 500,00 € 10.500,00 €

12312312 12412412 235235 20.000,00 € -3.242,00 € 16.758,00 € 3.184,02 € 19.942,02 €

Discount 2% Discount 10%Discount 5%
400,00 € 1.960,00 € 882,00 €

15546 65665464 654646 5.000,00 € 247,00 € 4.753,00 € 903,07 € 5.656,07 €

Discount 2% Discount 3%
100,00 € 147,00 €

This is the statistic without any discount

cust.-no. Invoice-no. Order-no. company Net-total tax gross
Doe Corp.

The next two examples are showing one statisic with three discounts and one with only two discounts.
There can be more discounts and this is one report. I don't know how many discounts there can be.
I wanted to get this with a „counter“, which is giving me the amount.
Based on this information I wanted to add the discount rows in the datasat and the columns in the table.

cust.-no. Invoice-no. Order-no. company Net-total discounttotalsubtotal tax gross
Doe Ltd.

cust.-no. Invoice-no. Order-no. company Net-total discounttotalsubtotal tax gross
Doe Corp.
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